[> ceB

cBUREREIRITERRSE (ERE, BHF)
Metallized polypropylene film capacitor for
lamps ( Round shape, Anti-explosion)

m 5pEZE Outline Drawing

1]
D

12__51 H | Mounting bolt

ST

S5EABRE, TERATHIDITREUSEERL.
1T, @BREI%.

HASRMNREEE TIA0CIRIEBELEF100T)
HARNIRAVMBLED, Ze&T%E,

m Z4i\iE Safety Approvals

m Features

The capacitors are designed specifically for HID Lighting applications where the
capacitors are used as part of the ballast circuit for high-pressure mercury vapor
lamps, sodium vapor lamps, and metal halide lamps. The temperature on
capacitor surface is admitted to reach 90C. (options 100 C on request).The
capacitor is of internal mechanical explosion-proof structure, safe and reliable.

. @ cQcC GB/T 18489-2008,type B,4.0uF ~ 50uF,540Vac,50/60Hz,-40°C/90°C
(FE) I (Certificate No.):CQC 11004066550
°® N UL/CUL UL810, CSA C22.2 N0.190,max.540Vac,50/60Hz, “Protected” ,10 000AFC , max. 90 C
C US | GRE/MIEX) | T8-S (File No.):E232771,CCN:CYWT2/8

m HAEK Specifications

5| F#x/# Reference Standard

GB/T 18489-2008 ( IEC 61048:2006)
GB/T 18504-2001 (IEC 61049:1991)

ENE B E Rated Voltage (Un)

280Vac,330Vac,400Vac,480Vac,540Vac,600Vac

FESNZE Rated Frequency (f)

50/60Hz

=

A =E3eE Capacitance Range (Cn)

4.0uF ~ 100.0uF

HNE%Z Capacitance Tolerance

+3%, 5%, £10%

PERRRE (BERKRELE, t)
Rated Max. Temperature (on capacitor surface, tc)

90 ( options 100°C on request )

S %25 Climatic Category

40/90/21

ARSI Type

Type B ( self-healing capacitor )

P ZEERI Case

Aluminum

%58 Condensation

Not permitted

Mt E ( 51> 18 ) Test Voltage Between Terminals

2Un, 2s

MR JE (#R55 Z 18] )Test Voltage Between Terminals to Case | 3 000Vac,2s (max. leakage current: 0.5mA)

A TI{EEE Max. Operating Voltage 1.1Un

ENE B Rated Current (In) 21 faUnCn x 10°° (A) (Unit of Cn: uF)
&K IL{EfE % Max Operating Current 1.3In

SMNFERIIFE LR Degree of protection IPOO

FE1Ri%F Terminals

Push in connector

R EBEE 4248 Bottom Mounting bolts M8 x 10(D < 50) M10 x 12(D=55) M12 x 16(D = 60)
BRAZLIEHE Max.Torque of Installation 5N-m 8N‘m 10N'm
RS EREK Max Altitude 2 000m

206



7= 4R i AR
m 18I mARRBINT

Part number system

The 18 digits part number is formed as follow:

1 2 3 4 5 6 7

8

9 10 11 12 13

ceB =

14 15 16 17 18

cC|6|B

13 BSKRE
CeB
$4~bN  RRFERE
P3=280V R1=330V G2=400V
S3=480V T1=540V U1=600V
$6~86L IRMRBEE
245, 505=50 x 10°pF=5.0uF
2941 FERE
H=+3%,J=+5%,K=+10%
2101 =i SN R <R D
C6B Dimension code
D H |Code| D H | Code
40 60 1 45 125 7
40 75 2 50 75 8
40 100 S 50 100 9
45 60 4 50 125 A
45 75 5 55 130 B
45 100 6 60 130 @
E111L A ERFFAERY
12~150 3|HHmREL
$£16~18L AWIPHFAERD

m Table 1 3|Hi#x{X%8 Terminals code

Digit 1 t0 3

Digit 4 to b

Digit 6 to 8

Digit 9

Digit 10

Digit 11

Series code

ceB

AC rated voltage

P3=280V R1=330V G2=400V
S3=480V T1=540V U1=600V
Rated capacitance value

For example: 505=50 x 10%pF=5.0uF
Capacitance tolerance
H=+3%,J=+5%,K=+10%

Dimension code

Internal use

Digit 12 to 15 Terminals code

Digit 16 to 18

Internal use

the middle of case

%12 {1 Digit 12 %13 { Digit 13 $# 14 4% Digit14 #15{i Digit 15
sz . g EEAMBBEE
Code 5| ﬁlﬁﬁ’ﬁ Code #ﬁﬁ’ﬁ Code 51t 85 1< . Code | With or without
Terminal form Fixed style length of lead wire . :
discharge resistor

e o A 5 TEB IR M8 0 | TREER R | % HH With resistor

8 '?vvﬁcl) il\/llPég/lOi%gfs%j Bottom-bolt M8 standard form 0 7 BB Without resistor
P 6 | TFEBERE M10

9 | i34 AMP250# K i";ﬁg‘&b&'}y 0

Three AMP250# per side 7 Bottom—bolt M12

th &K B
8 Ring—clip in

207



208

[> ceB

m 5pEZR~F Dimensions ( mm )

280Vac 330Vac

o |s20/=50s 10 bon | rosmer | Pertnumber WP |=20 50l 10 bt C| resmer | Pertnumber

4 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3405—10****+++ 4 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1405-10****+++

5 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3505—10****+++ 5 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1505-10****+++

6 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3605—10****+++ 6 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1605-10****+++

7 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3705-10****+++ 7 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1705-10""**+++

8 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3805-10****+++ 8 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1805-10****+++

9 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3905-10****+++ 9 |40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1905-10****+++
10 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3106—10****+++ 10 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1106—10****+++
11 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3116-10****+++ 11 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1116-10****+++
12 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3126—10****+++ 12 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1126—10****+++
13 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3136—10"***+++ 13 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1136-10"***+++
15 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3156—10****+++ 15 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1156—10****+++
16 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3166—10"***+++ 16 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BR1166—-10****+++
18 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3186—10"***+++ 18 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BR1186-20****+++
20 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BP3206—10****+++ 20 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BR1206-20"***+++
22 | 45 | 60 | 18 | M8x10 |0.5W,0.82MQ | C6BP3226—-40****+++ 22 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BR1226-20"***+++
24 | 45 | 60 | 18 | M8x10 |0.5W,0.82MQ | C6BP3246-40****+++ 24 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BR1246-20****+++
26 | 45 | 60 | 18 | M8x10 |0.5W,0.82MQ | C6BP3266—40****+++ 26 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BR1266-50""**+++
28 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BP3286-20****+++ 28 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BR1286-50""**+++
29 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BP3296-20****+++ 29 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BR1296-50"***+++
30 | 40 | 75 | 16 | M8x10 |0.5W,0.82MQ | C6BP3306—-20****+++ 30 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BR1306-50"***+++
32 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BP3326-50****+++ 32 | 45 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BR1326-50"***+++
35 | 45 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BP3356-50****+++ 28 | 40 (100 | 16 | M8x10 |0.5W,0.82MQ | C6BR1286-30****+++
38 | 45 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BP3386-50****+++ 29 | 40 (100 | 16 | M8x10 |0.5W,0.82MQ | C6BR1296-30****+++
42 | 45 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BP3426-50""**+++ 30 | 40 [100| 16 | M8x10 |0.5W,0.82MQ | C6BR1306-30****+++
46 | 50 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BP3466-80""**+++ 32 | 40 (100 | 16 | M8x10 |0.5W,0.47MQ | C6BR1326-30"***+++
42 | 40 | 100 | 16 | M8x10 |0.5W,0.47MQ | C6BP3426-30"***+++ 35 | 50 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BR1356-80""**+++
46 | 40 [ 100 | 16 | M8x10 |0.5W,0.47MQ | C6BP3466-30****+++ 38 | 40 | 100 | 16 | M8x10 |0.5W,0.47MQ | C6BR1386-30****+++
51 | 50 | 75 | 18 | M8x10 |0.5W,0.47MQ | C6BP3516-80****+++ 42 | 45 [100| 18 | M8x10 |0.5W,0.47MQ | C6BR1426-60""**+++
56 | 45 (100 | 18 | M8x10 |0.5W,0.47MQ | C6BP3566—60****+++ 46 | 45 (100 | 18 | M8x10 |0.5W,0.47MQ | C6BR1466-60""**+++
62 | 45 (100 | 18 | M8x10 |1.0W,0.33MQ | C6BP3626—60****+++ 51 | 45 [100| 18 | M8x10 |0.5W,0.47MQ | C6BR1516-60""**+++
68 | 50 (100 | 18 | M8x10 |1.0W,0.33MQ | C6BP3686—90****+++ 56 | 50 [ 100 | 18 | M8x10 |1.0W,0.33MQ | C6BR1566—-90****+++
75 | 50 [100 | 18 | M8x10 |1.0W,0.33MQ | C6BP3756—90****+++ 62 | 50 [ 100 | 18 | M8x10 |1.0W,0.33MQ | C6BR1626-90****+++
83 | 50 (100 | 18 | M8x10 |1.0W,0.33MQ | C6BP3836—-90****+++ 68 | 50 [125| 18 | M8x10 |1.0W,0.33MQ | C6BR1686—A0****+++
91 | 50 [125| 18 | M8x10 |1.0W,0.27MQ | C6BP3916-A0*"**+++ 75 | 50 [125| 18 | M8x10 |1.0W,0.33MQ | C6BR1756—-A0****+++
100 | 50 [ 125 | 18 | M8x10 |1.0W,0.27MQ | C6BP3107-A0****+++ 83 | 50 [125| 18 | M8x10 |1.0W,0.27MQ | C6BR1836—-A0****+++

3% T RRBERE, “~" =capacitance tolerance code, H=+ 3%, J=+5%, K=+ 10%.

=

1.
2. “xxxx? RIRSIHIEARED ( Mtable 1)
3. R~TRF T B EERE, Other values and dimensions are available on request.

HERE,

“xxxx" _terminals form code ( refer to table 1) .




m 5pEZR~F Dimensions ( mm)

ces =

400Vac 480Vac
((jr'\:) 12.0 +g_o ¢F1>. Mol;jglttmg DﬁZﬁ'?s?E?e Part number (Srl‘:) 12.0 +|-3|.o t'?. Mogglttmg Dﬁii?s?g?e Part number
4 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2405—10****+++ 4 | 40 | 60 | 16 | M8x10 |1.0W,0.82MQ | C6BS3405-10"***+++
5 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2505-10****+++ 5 40 | 60 | 16 | M8x10 |1.0W,0.82MQ | C6BS3505—10****+++
6 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2605-10"*+++ | | 6 | 40 | 60 | 16 | M8x10 |1.0W,0.82MQ | CEBS3605-10""*+++
7 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2705-10****+++ 7 | 40 | 60 | 18 | M8x10 |1.0W,0.82MQ | C6BS3705-10"***+++
8 | 40 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2805—10****+++ 8 | 45 | 60 | 18 | M8x10 |1.0W,0.82MQ | C6BS3805-40****+++
9 | 40 | 60 | 18 | MBx10 |0.5W,0.82MQ | C6BG2905-10"*+++ | | 9 | 45 | 60 | 18 | M8x10 |1.0W,0.82MQ | CE6BS3I05-40""*+++
10 | 45 | 60 | 18 | M8x10 [0.5W,0.82MQ | C6BG2106—-40****+++ 10 | 45 | 60 | 18 | M8x10 |1.0W,0.82MQ | C6BS3106-40****+++
11| 45 | 60 | 18 | M8x10 |0.5W,0.82MQ | C6BG2116-40****+++ 11 | 40 | 75 | 16 | M8x10 |1.0W,0.82MQ | C6BS3116-20"***+++
12 | 45 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2126—-40****+++ 12 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BS3126-50"***+++
13 | 45 | 60 | 16 | M8x10 |0.5W,0.82MQ | C6BG2136—-40****+++ 13 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BS3136-50"***+++
15 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2156-50****+++ 13 | 40 | 100 | 16 | M8x10 |1.0W,0.82MQ | C6BS3136-30****+++
16 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2166-50****+++ 15 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BS3156-50"***+++
18 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2186-50****+++ 16 | 40 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3166-30****+++
20 | 45 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2206-50"***+++ 18 | 45 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3186-60"***+++
18 | 40 | 100 | 16 | M8x10 |0.5W,0.82MQ | C6BG2186—-30****+++ 20 | 45 [ 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3206-60****+++
20 | 40 (100 | 16 | M8x10 |0.5W,0.82MQ | C6BG2206-30****+++ 22 | 45 [ 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3226-60****+++
22 | 50 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2226-80****+++ 24 | 50 [ 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3246-90****+++
24 | 50 | 75 | 18 | M8x10 |0.5W,0.82MQ | C6BG2246-80"***+++ 26 | 50 [ 100 | 18 | M8x10 |1.0W,0.82MQ | C6BS3266-90****+++
26 | 45 | 100 | 18 | M8x10 |0.5W,0.82MQ | C6BG2266-60****+++ 28 | 50 [ 100 | 18 | M8x10 |1.0W,0.47MQ | C6BS3286-90****+++
28 | 45 100 | 18 | M8x10 |0.5W,0.82MQ | C6BG2286-60****+++ 29 | 50 | 100 | 18 | M8x10 |1.0W,0.47MQ | C6BS3296-90****+++
29 | 45 [ 100 | 18 | M8x10 |0.5W,0.82MQ | C6BG2296-60****+++ 30 | 50 | 100 | 18 | M8x10 |1.0W,0.47MQ | C6BS3306-90****+++
30 | 45 [100| 18 | M8x10 |1.0W,0.47MQ | C6BG2306-60"***+++ 32 | 50 | 125 | 18 | M8x10 |1.0W,0.47MQ | C6BS3326-A0****+++
32 | 50 [ 100 | 18 | M8x10 |1.0W,0.47MQ | C6BG2326-90****+++ 35 | 50 | 125 | 18 | M8x10 |1.0W,0.47MQ | C6BS3356-A0****+++
35 | 50 [ 100 | 18 | M8x10 |1.0W,0.47MQ | C6BG2356-90****+++ 38 | 50 | 125 | 18 | M8x10 |1.0W,0.47MQ | C6BS3386-A0****+++
38 | 50 [ 100 | 18 | M8x10 |1.0W,0.47MQ | C6BG2386-90****+++ 42 | 50 [125| 18 | M8x10 |1.0W,0.47MQ | C6BS3426-A0****+++
42 | 45 [125| 18 | M8x10 |1.0W,0.47MQ | C6BG2426-70"*"*+++ 46 | 55 [ 130 | 20 | M10x12 | 1.0W,0.47MQ | C6BS3466-B0****+++
46 | 50 | 125 | 18 | M8x10 |1.0W,0.47MQ | C6BG2466—-A0****+++ 51 | 55 [130| 20 | M10x12 |2.0W,0.33MQ | C6BS3516-B0****+++
51 | 50 | 125| 18 | M8x10 |1.0W,0.33MQ | C6BG2516-A0""*+++| | 56 | 60 130 | 20 | M12x16 |2.0W,0.33MQ | C6BS3566-CO™**+++
56 | 55 | 130 | 20 | M10x12 | 1.0W,0.33MQ | C6BG2566—-B0****+++ 60 | 60 (130 | 20 | M12x16 |2.0W,0.33MQ | C6BS3606-CO****+++
62 | 55 [ 130 | 20 | M10x12 | 1.0W,0.33MQ | C6BG2626-B0****+++
68 | 55 | 130 | 20 | M10x12 | 1.0W,0.33MQ | C6BG2686—-B0****+++
& ‘- RRBBRZE, “-" =capacitance tolerance code, H=+3%, J=+5%, K=+ 10%.

e e

1.
2. “xxxx? RORSIHIHARE ( Mtable 1)
3. R~RFTHBFPEERE, Other values and dimensions are available on request.

HERE,

“xxxx" _terminal form code ( refer to table 1) .

209



[> ceB

m 5pEZR~F Dimensions ( mm)

210

540Vac 600Vac

wh|+20]=50/< 10 ot *| resmer | Patnumoer | Do Bl ol bt | redeer | Fertmamoer

4 | 40 | 60 | 16 | M8x10 [1.0W,0.82MQ | C6BT1405-10"**+++ 4 | 40 | 60 | 16 | M8x10 |1.0W,0.82MQ | C6BU1405-10"**"+++

5 140 | 60 | 16 | M8x10 |1.0W,0.82MQ | C6BT1505-10""**+++ 5 | 45 | 60 | 18 | M8x10 |1.0W,0.82MQ | C6BU1505-40""**+++

6 | 45 | 60 | 18 | M8x10 [1.0W,0.82MQ | C6BT1605-40"**+++ 6 | 40 | 75 | 16 | M8x10 |1.0W,0.82MQ | C6BU1605-20"***+++

7 | 40 | 75 | 16 | M8x10 [1.0W,0.82MQ | C6BT1705-20"***+++ 7 | 40 | 75 | 16 | M8x10 |1.0W,0.82MQ | C6BU1705-20"***+++

8 |40 | 75 | 16 | M8x10 |1.0W,0.82MQ | C6BT1805-20"***+++ 8 |45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BU1805-50""**+++

9 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BT1905-50"***+++ 9 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BU1905-50****+++
10 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BT1106-50"***+++ 8 | 40 | 100 | 16 | M8x10 |1.0W,0.82MQ | C6BU1805-30"***+++
11 | 45 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BT1116-50""**+++ 9 | 40 {100 | 16 | M8x10 |1.0W,0.82MQ | C6BU1905-30***+++
10 | 40 [ 100 | 16 | M8x10 |1.0W,0.82MQ | C6BT1106-30"***+++ 10 | 50 | 75 | 18 | M8x10 [1.0W,0.82MQ | C6BU1106-80""**+++
11 | 40 [ 100 | 16 | M8x10 |1.0W,0.82MQ | C6BT1116-30"* +++ 11| 50 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BU1116-80""**+++
12 | 50 | 75 | 18 | M8x10 [1.0W,0.82MQ | C6BT1126—-80"**+++ 12 | 50 | 75 | 18 | M8x10 [1.0W,0.82MQ | C6BU1126-80""**+++
13 | 50 | 75 | 18 | M8x10 |1.0W,0.82MQ | C6BT1136-80"""*+++ 13 | 45 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BU1136-60""*"+++
15 | 50 | 75 | 18 | M8x10 [1.0W,0.82MQ | C6BT1156-80"**+++ 15 | 45 | 100 | 18 | M8x10 [1.0W,0.82MQ | C6BU1156-60""**+++
16 | 45 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BT1166-60"""*+++ 16 | 50 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BU1166-90™**"+++
18 | 45 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BT1186-60"***+++ 18 | 50 | 100 | 18 | M8x10 |1.0W,0.82MQ | C6BU1186-90***+++
20 | 50 [ 100 | 18 | M8x10 |1.0W,0.82MQ | C6BT1206-90"***+++ 20 | 45 [ 125| 18 | M8x10 |1.0W,0.82MQ | C6BU1206-70""**+++
22 | 50 ({100 | 18 | M8x10 |1.0W,0.82MQ | C6BT1226-90****+++ 22 | 50 [125| 18 | M8x10 |1.0W,0.82MQ | C6BU1226-A0****+++
24 | 50 {100 | 18 | M8x10 |1.0W,0.82MQ | C6BT1246-90"***+++ 24 | 50 [125| 18 | M8x10 |1.0W,0.82MQ | C6BU1246-A0*"**+++
26 | 50 (125 | 18 | M8x10 |2.0W,0.47MQ | C6BT1266-A0***+++ 26 | 50 [125| 18 | M8x10 |2.0W,0.47MQ | C6BU1266-A0****+++
28 | 50 (125 | 18 | M8x10 |2.0W,0.47MQ | C6BT1286-A0"**+++ 28 | 55 [ 130 | 20 | M10x12 | 2.0W,0.47MQ | C6BU1286-B0****+++
29 | 50 (125 | 18 | M8x10 |2.0W,0.47MQ | C6BT1296-A0***+++ 29 | 55 (130 | 20 | M10x12 | 2.0W,0.47MQ | C6BU1296-BO****+++
30 | 50 | 125 | 18 | M8x10 |2.0W,0.47MQ | C6BT1306-A0"**+++ 30 | 55 | 130 | 20 | M10x12 |2.0W,0.47MQ | C6BU1306-BO****+++
30 | 55 (130 | 20 | MOx12 |2.0W,0.47MQ | C6BT1306-B0****+++ 32 | 55 (130 | 20 | M10x12 |2.0W,0.47MQ | C6BU1326-B0****+++
32 | 50 | 125 | 18 | M8x10 |2.0W,0.47MQ | C6BT1326-A0"**+++ 34 | 60 [130| 20 | M12x16 | 2.0W,0.47MQ | C6BU1346-CO****+++
35 | 55 (130 | 20 | M10x12 | 2.0W,0.47MQ | C6BT1356-B0****+++ 35 | 60 [130| 20 | M12x16 | 2.0W,0.47MQ | C6BU1356—-CO****+++
38 | 55 | 130 | 20 | M10x12 |2.0W,0.47MQ | C6BT1386-B0****+++ 36 | 60 [130| 20 | M12x16 | 2.0W,0.47MQ | C6BU1366—-CO****+++
40 | 55 [ 130 | 20 | M10x12 | 2.0W,0.47MQ | C6BT1406-B0****+++ 40 | 60 [130| 20 | M12x16 | 2.0W,0.47MQ | C6BU1406—-CO****+++
46 | 60 [ 130 | 20 | M12x16 | 2.0W,0.33MQ | C6BT1466-CO™***+++

51 | 60 [130 | 20 | M12x16 |2.0W,0.33MQ | C6BT1516-CO™***+++

&% ‘-7 RRFERZE, - =capacitance tolerance code, H=£3%, J=+5%, K= £10%.

1.
2. “EEExY KRS HEBRED
3. R~RFTHBFPEERE, Other values and dimensions are available on request.

HERE.

oo e

(Mtable 1) o

“#xxx" —terminal form code ( refer to table 1) .






